
1.  2 x 27 means two groups of twenty-seven objects. 

27+27=? 

A. 34 

B. 54 

C. 46 

D. 47 

  



Try Again 

  



Correct Go to the Next Question 

  



2. 2 x 28 means two groups of twenty-eight objects. 

28+28 

A. 56 

B. 54 

C. 48 

D. 46 

  



Try Again 

  



Correct Go to the Next Question 

  



3. 2 x 30 means two groups of thirty objects 

30+30 

A. 50 

B. 55 

C. 60 

D. 62 

  



Try Again 

  



Correct Go to the Next Question 

 

  



4. Choose the answers on the space provided 

3 x 12 =? _______ 

A. 36 

B. 24 

C. 34 

D. 26 

 

  



Try Again 

  



Correct Go to the Next Question 

  



5. Choose the answers on the space provided. 

3 x 16 = ________  

A. 40 

B. 45 

C. 48 

D. 35 

  



Try Again 

  



Correct 


